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S. SUELD SEL 1 = 334 m2. S AC32 = 090 n2.
S, TERRAPLEN = 1061 M2 S ACl6 = 044 m2,
S.FIRME = 354 n2. S VEGETAL = 322 m2.
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S. TERRAPLEN = 295 m2. S ACI6 = 044 n2.
547 ‘
546,518 545 + + + + + + + + + + + + t + + + + 1
— 434 12 5
_ L ‘ o S.FIRME = 334 m2.  S. VEGETAL = 397 m2.
Pk=0+030 545 S SUELD SEL 2= 371me S ZA= 208 m2
S SUELD SEL 1 = 334 m2. S AC3 = 091 m2,
548 S. TERRAPLEN = 873 m2. S ACI6 = 044 m2
P | S.FIRME = 327 m2. S DFIRME = 000 m2 S. AC32 = 014 m2.
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Pk=0+040
S48 S FIRME = 258m2 S DFIRME = 022 m2 S. AC32 = 025 m2
S. D TIERRA = 032 m2 S. TERRAPLEN = 000 m2 S ACI6 = 042 m2.
S. SUELD SEL 2 = 053 m2.S. VEGETAL = 054 m2 S AC32 REF = 125 m2
S SUELD SEL 1= 062 m2 S ZA= 062 m2 S. ACI6 REF = 027 n2
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S. FIRME = 329 m2. S VEGETAL = 296 m2.
S. D TIERRA = 333 n2, S.za= 191 n2,
S. SUELD SEL 2 296 m2. S AC32 = 089 m2.

S, SUELO SEL 1 =

295 m2. S. AC16 0.44 m2.
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